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(a) 38" -the angle which the chord makes with tangent is equal to the angle

B2

1 Mark for

a| . subtended by the same chord in the alternate segment of the circle correct
(b) 90° -Diameter subtends right angle at any point on the circumference of 87_ . angle and
the circle 1 Mark for
(¢) 26°- The base angles of isosceles triangle are equal B2 |each
(d) 26°-Angles subtended on the circumference by the same arc in the same correct
segment are equal B2 reason.
(e) 52°-The angle which an arc subtends at the centre is twice that it
subtends at any point on the circumference of the circle B2
Bl
B1
B1
b)Constructing bisector of line AC B1
locating locus P B1
c)Bisecting angle ABC (locus Q) B1
constructing a line 2cm away from AC locating locus R 1 B1
d)Bisecting < BAC B1’
drawing an arc (dotted) 5cm away from A. B1
Bl

Shading unwa_nted side
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a) Taxable income = 52,000+7800+5000
(i) = 64,800
Tax payable = 11180 x 0.1 = 1118
10534 x 0.15 = 1580.10
(ii) 10534 x 0.2 =2106.80
10534 x 0.25 = 2633.50
22018 x 03 = 6605.40
Total tax 14,043.80
net tax = 14043.80 — 1280 = ksh 12,763.50

b) Additional tax = ﬁ x 52000 x 0.3 = 0.3

) Net salary= 64800-12763+624+(7— X 52000
= ksh 53492.20
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a) ’

dte

A=% h[(yo+ yn) + 2(y1 +yztystystys)]
=% (0.5) [(1+28) + 2(83+6+10+25+21)]

=% x 139

=34.75

b) [7(2x2+ 3x+)dx

2x% | 322
=55 xlil

=@CE + 332+ 3) - AL+ 2012+ 0]

=2X27+3X9+3
3 2

¢) Error = actual estimate
34.5 - 34.75
=-0.25
%error = —22x 100
345
= 0.725 decrease
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